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CH.1
1. FTHRMAER

name=input (' ;ZF& A &H£E")

print(‘Hello, "+name)
import os
os.system{ ' pause'})]
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it A\ JE-&John
Hello, John

2. EERBCEET R

a=int(input (' FZFg& A
b=int(input(’:
print(a-b)

import os
os.system{ ' pause'})|
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CH.2

print(a+b+c)
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import time

start = time.time()
print(2**1000000)
end=time.time()

print( SLisET " ,end-start)

import os
os.system{ "pause")
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CH.3

a=float(input('ZF&A5EF"))
b=(a/2.54)

feet=int(b/12)
inch=(((float(b/12)-feet))*12)
print (' Z=5",feet, ' &' ,inch, ' &)
import os

os.systemf{ ' pause'])]

HITHR

HEI A5 5175.26
BEa 5K 9.0

2. JL A ]

a=int(input('F8¢ A &5 "))
b=int(input( ‘I8¢ A S5F"))
pﬁint( ':Z?.'.:'::u::??': (5*12+8)*2‘ 54)
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AR HERR

km=float(input("”
f km<1.5:print("5;

else:f=75+int((km-1.5)/0.25)*5
print{"BEE",F, ")
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BEEA 105 7

num=int(input( 'ZF8ALEE))
print{ ‘45507 ,int(num/5-8. 1)+1)
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a=int(input(’';F8¢A FEE"))
b=(a/12)
print{ ‘255455 ' ,b*200+(a%12)*20))
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6. 48 AR,

£88-float (input (‘A
- if £FA<=60:
p."int( '*%fﬁ*f?f_‘%r“)

point;=int((§21§—60)/45+1)
printf '3 &4 ,points, 'fg’?l)
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—mPHEn

1nt(1nput( =7
c=int(input( '8

if atb>c and a+c>b
p"lnt(

P”‘"t( P2

ort os
os.system( ‘pause ')
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ARASHEERAIEZBRE?S
R = A

2. B I

a=int(input( BEALE? "))
if a<36:
print( ‘3
elif 36<=a<3
print( ‘#ETE"
elif 38<-a<39
P"’”t(

print(" )

import os
os.system( ‘pause ')
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a=float(input( ';F8¢Aad7{&?"))
b=float(input( '3t bEFTE?"))
if @8 > b:

print( ‘aAfb’)

elif @ < b:

print(‘affFBb")

os.system( ‘pause ")
T4
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a=float(input(
b=float(input(’
c=float(input('EF&¢

import os
os.systemf 'pause ')
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5.M1RIEE

4573 ,a*100%0.8)
3',a%100%0.7)
454" ,a%100%0.6)

os.system{ 'pause ')

HITEER

HE A EE R BAIPIEoRE 215
marEh 1050.0

6.7KEETHE

a=int(input('FWAFKE(E)?"))
if a<=1e:

print( Wiy ,a8%7.35)
elif a<=30:

print( i ,8%79.45-21)

*,8%*11.55-84)
*,8%12.075-110.25)

import os
os.system( ‘pause ")

HITEER
AR () 235
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a=int(input( 'FSASER "))
if a>=90:
print(’ &
=1if a>=80:
print( ' FF’
1if a>=7e:

print(’ Z&"
1if 8>=60:
print( ' &

print(’ 7&5"

import os
os.system( 'pause )

T4

RIS 8259
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a-_—int(inPUt( = ’%?/{ H&’Q ))
if a<=3:
print( ‘&FE"
1if a<=6:
print(' &’
f a<=9:
print( "&#=F

a<=12
print( ‘' &£F"

import os
os.system(’
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CH.5
1 S ERHE

a=int(input('F8GA
b=int(input("’ j

c=int(input(

sum=0

for 1 in range(d,b,c):
sum=sum+i
print( ‘i, 1,

T4
HE AR {E 23
FHE A NsEET BE 213

A A RE 23

i% 3 MMGERAD 3
ik 6 NMBERB 9
i% 9 IM\ERA 18
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# 7RERR AT AN
sum=0
~ i in range(0,200,7):
sum=sum+i

print(sum)
import os
os.system( “pause™)
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sum=int(input ("3,

for 1 in range(1,
sum=sum*1i

print(sum)

import os

os.system( “pause™)

T4

S A nE 220
2432902008176640000

4. 3K

sum=

a=int(input( "3

for 1 in range(l,a+1):
+i*i

os.system( "pause™)

H T4
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5.3 A 1000 B8/ NE 5 AT

hile sum<=1000:

sum=sum+n**2
print(n,sum)
a+=1
import os
os.system( "pause™)
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285

10 385
11 566
12 650
13 819
14 1015

6.5 5 6 Ky ik

n=random.randint(1,6)
print(n)

import os

os.system( "pause™)

OV WA W wumun
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#RET I8

n=int(input( "5 & 7))
sum=0

for 1 in range(1,n+1):
m+1/(i*1)

print(" ¥

import os
os.system( "pause™)
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8.FR{E R

n range(1,1001):
if i%¥3==2 and i%¥5==1 and i%7==4:
print(i)
import os
os.systemf{ "pause")




9.3 A7 10000 /N7 TR

hile sum<=10000:

sum=sum+n**3
print(n,sum)
n+=1
import os
os.system( "pause™)
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CH.6

1. ETHEF =AY

in range(1,7):
r j in range(1,i+1):
print(j,end="")
print()

HITHR

1

12

123
1234
12345
123456

2. BEPREAA LR

#REIRT PR
sum=e
for 1 in range(1,1001):
if i %7 ==0:
if 1 %21 ==0:

sum=sum+i
print(sum)

HITAR
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3. EE5%

#ETE5R

for 1 in range(5,90,-1,):

for j in range(i,1,-1):
print(’ ‘,end="")
for k in range(0,6-1i):
print('*',end="")
print()

HITEER

4. B FEpE

#E {IrFEIE
for i in range(1,5):
for j in range(1,+1):
print(‘8’,end="")
Ffor k in range(1,2):
print(‘1',end="")
for x in range(-4,-1i):
print(‘0’,end="")
print()
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CH.7
ESURNEGIN Jc)

A-[e]*4e
a=0

rt random

~ i in range(40):
A[i]=random.randint(@,100)
print(A[i],", ",sep="",end="")
if A[i]<6e:

print(‘'F2

import os
os.system( “pause”)

75,91,2,62,35,58,24,28,42,79,89,33,98,19,16,52
,13,51,86,45,90,30,94,33,84,62,64,52,20,60,29,
52,64,30,59,70,36,60,21, F i A 8IS 24

AR R

rt random
9]*3 for 1 in range (10)]
i in range(10):

or j in range(3):
A[i][j]=random.randint(0,100)
t=0
t= t+A[1][9]*9 3+A[1][1]*9 3+A[i][2]*0.4
print(“&",i+1," : & ,A[1],end="")
print("£%5 ;

ort os
os.system( "pause™)




I TEER

R 1 {UESATAEEA [18, 49, 33]EBIMEA 33.3
2 fUESAIAES [29, o, 63]RHIAMEA

33.9 6

R 3 UESRTAEES [93, 9, 41BHAEER
32.199999999999996

% 4 [UESAIAES [30, 98, S0 RHIMEA 58.4
% 5 UFSAAEA [10e, 84, 99]2HIRLEA

94 . 30000000000001

5 6 (UESMRES (5, 33, 731EMIMES 415
% 7 MESMIRES (71, 69, 871SHIREA

76 .36000000000001

= & UESMRES (98, 25, 721SMIMEE 65.7
s o MESMIRES [25, 3, 16]BMIMES 14.8
% 10 REEEIRES [99, 22, JJEMIMER 37.5

3. EEEME

A=[[@]*3for i in range(3)]
B=[[@]*3for J in range(3)]
print ("JRREFT: ")
for 1 in range(3):
for j in range(3):
A[i][j]=random.randint(1,9)
print(A[1][3],"",end="")
print()
print ("SI ")
for i in range(3):
for j in range(3):
B[i][j]=A[]]1[1]
print(B[1](3],"",end="")
print()

HITHR




CH.8

#nPitsE
def f(x):
if (x==1):

x=int(input( ‘3
result=Ff(x)
print(x, ‘jg3

port 0s
os.system( ‘pause’)

HITHR
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2. KW EH I R AR E

a=int(input(

b=int(input( "T85
ged(a,b)

print("A#BSTEA

import os
os.system( 'pause ')

HITEE
A — 813

AR —H 288252
ASUBHIR RS RS 13

3. Brse T HE AL

ID=input( ' ZF&HA

print( ‘#F: =)

printl ‘ frE5E)

HITEER

FEA—E B8t 2A111222333

tr2BE




4. B Ry 3 IUEE

a=int (input( ' SMA —EBF2"))
if @8 ¥ 3==0:

print(a, ‘&

print(a, 'F2

A TEE

s\ —1{F 852 24353545349
4353545345 F 2 378N

5. R=BHImAE

- a*b and a>c:
print(a)

elif b>a and b>c:
print(b)

elif c>a and c>b:
print(c)

a=int(input(’
b=int(input(’
c=int(input( '
max(a,b,c)

TS
FEA— g
HHA— g s

AR —{H g 23
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1.2 735

#E RS
def f(k):
if k==0 or k==1:
value=1
else:
value=f(k-1)+f(k-2)
print("fF(",k,")=",value)
return value
k=int(input("”
resuit=Ff(k)
print("f(",k,")=",resuit)

import os
os.system( "pause™)

#2RnBEE
def f(x):
sum = n
for i in range(1,x):
sum = i*sum
return sum

n=int(input( =
print(n, ", f(n))

import os
os.system( "pause™)

CH.9




def hanoi(n,a,b,c):

if n==1:
print(a, '-->",c)

else:

#UL I [EE
print(a,

<)

it Hn-1{E2

hanoi(n-1,b,a,c)
n=3
hanoi(n, 'A",'B','C")

import os
os.system( "pause")

Tmw>nrr




CH.10
1 FRHRABEIA

2B HE =set([ 'John', 'Mary "', 'Tina', 'Fiona', 'Claire’, 'Eva’, 'Ben’, 'Bill’, 'Bert’])
M Bt =set([ 'John", 'Mary’, 'Fiona', 'Claire”, 'Ben’, 'Bill '])
By B iR =set([ ‘Mary’, '‘Fiona', ‘'Claire’, 'Eva’, 'Ben'])

print (I RAZLERIE)
print (ZISRE -#IER1E)
print (B BAZ (SIFSE-BIERIR))

i
TS
{'Fiona‘', 'Mary’', 'Claire’, 'Ben'}
{'Bill’', 'Bert', 'John', 'Tina'}
{'Bill', 'John'}

2. PR E R ERY T

=set( ' EEHE FRE[OLEESRE  WmEE -
b=set( " & g - HRETD

a.remove(’ ¢ ")

b.remove( " - ')

print(8&b)

TS
U%', &, K')
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CH.6

5. HIB#F =AM

in range(1,7):
r j in range(1,i+1):
print(j,end="")
print()

HITHR

1

12

123
1234
12345
123456

6. BEPRELAEEPR

#REIRT PR
sum=e
for 1 in range(1,1001):
if i %7 ==0:
if 1 %21 ==0:

sum=sum+i
print(sum)

HITAR

47383




7. E1E 57

#ETE5R

for 1 in range(5,90,-1,):

for j in range(i,1,-1):
print(’ ‘,end="")
for k in range(0,6-1i):
print('*',end="")
print()

HITEER

8. F{irAEfE

#E {IrFEIE
for i in range(1,5):
for j in range(1,+1):
print(‘8’,end="")
Ffor k in range(1,2):
print(‘1',end="")
for x in range(-4,-1i):
print(‘0’,end="")
print()

T4

32




CH.7
ESURNEGIN Jc)

A-[e]*4e
a=0

rt random

~ i in range(40):
A[i]=random.randint(@,100)
print(A[i],", ",sep="",end="")
if A[i]<6e:

print(‘'F2

import os
os.system( “pause”)

75,91,2,62,35,58,24,28,42,79,89,33,98,19,16,52
,13,51,86,45,90,30,94,33,84,62,64,52,20,60,29,
52,64,30,59,70,36,60,21, F i A 8IS 24

AR R

rt random
9]*3 for 1 in range (10)]
i in range(10):

or j in range(3):
A[i][j]=random.randint(0,100)
t=0

t= t+A[1][0]*0 3+A[1][1]*9 3+A[i][2]*e.4
print(“&",i+1," : & ,A[1],end="")
print("£%5 ;
ort os
os.system( "pause™)

33




I TEER

R 1 {UESATAEEA [18, 49, 33]EBIMEA 33.3
2 fUESAIAES [29, o, 63]RHIAMEA

33.9 6

R 3 UESRTAEES [93, 9, 41BHAEER
32.199999999999996

% 4 [UESAIAES [30, 98, S0 RHIMEA 58.4
% 5 UFSAAEA [10e, 84, 99]2HIRLEA

94 . 30000000000001

5 6 (UESMRES (5, 33, 731EMIMES 415

% 7 MESMIRES (71, 69, 871SHIREA

76 .36000000000001

= & UESMRES (98, 25, 721SMIMEE 65.7
s o MESMIRES [25, 3, 16]BMIMES 14.8

% 10 REEEIRES [99, 22, JJEMIMER 37.5

6. B E FEE

A=[[@]*3for i in range(3)]
B=[[@]*3for J in range(3)]
print ("JRREFT: ")
for 1 in range(3):
for j in range(3):
A[i][j]=random.randint(1,9)
print(A[1][3],"",end="")
print()
print ("SI ")
for i in range(3):
for j in range(3):
B[i][j]=A[]]1[1]
print(B[1](3],"",end="")
print()

HITHR

34




CH.8
8. 3K n [&3E

#nPitsE
def f(x):
if (x==1):

x=int(input( ‘3
result=Ff(x)
print(x, ‘jg3

port 0s
os.system( ‘pause’)

HITHR

HEiAnfE 210
1 PESEZERS 1
2 PEsEER 2
3 PESRER 6
4 [ESEER 24
5 PEsRER: 120

6 PEsEER 720

7 PE3RSERY Se4o

8 PUsEZH 40320

9 PSR 362880
10 LSRR 3628300
10 PLSEEHR 3628300
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9. SKINEH IR A LA

a=int(input(

b=int(input( "T85
ged(a,b)

print("A#BSTEA

import os
os.system( ‘pause *)

HITEE
A — 813

AR —H 288252
ASUBHIR RS RS 13

10. Bora8 i AlEr B 2L

ID=input( " Z&GA

print( ‘#F: =)

print{ ‘' HEFE)

HITEER

FEA—E B8t 2A111222333

tr2BE
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11. 65 3 B

a=int(input(’
if a ¥ 3==0:

print(a, ‘2387

print(a, "F&

A TEE

s\ —1{F 852 24353545349
4353545345 F 2 378N

12 R =B A E

if a>b and a>c:
print(a)

elif b>a and b>c:
print(b)

elif c>a and c>b:
print(c)

a=int(input( '3
b=int(input(
c=int(input(’3
max(a,b,c)

TS
FEA— g
HHA— g s

AR —{H g 23
5
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1. A5

#E R
def f(k):
if k==0 or k==1:
value=1
else:
value=f(k-1)+f(k-2)
print("fF(",k,")=",value)
return value
k=int(input("”
resuit=f(k)
print("f(",k,")=",resuit)

import os
os.system( "pause™)

38
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r 1 in range(1,x):
sum = i*sum
return sum

n=int(input(
print(n, .F(n))

import os
os.system( “pause™)

39




7 ,,,PE"T?'E%E 5e4e
3. AN
2 -

#EA A
def hanoi(n,a,b,c):

if n==1:
print(a, '-->",¢c)

else:

e

print(a, ,€)
#1b_HIn- 1{E#s
hanoi(n-1,b,a,c)

n=3

hanoi(n, 'A",'B",'C")

import os
os.system( "pause™)

A
A
C
A
B
B
A

40




CH.10
3. R RAGHIA

2B HE =set([ 'John', 'Mary "', 'Tina', 'Fiona', 'Claire’, 'Eva’, 'Ben’, 'Bill’, 'Bert’])
M Bt =set([ 'John", 'Mary’, 'Fiona', 'Claire”, 'Ben’, 'Bill '])
By B iR =set([ ‘Mary’, '‘Fiona', ‘'Claire’, 'Eva’, 'Ben'])

print (I RAZLERIE)
print (ZISRE -#IER1E)
print (B BAZ (SIFSE-BIERIR))

i
TS
{'Fiona‘', 'Mary’', 'Claire’, 'Ben'}
{'Bill’', 'Bert', 'John', 'Tina'}
{'Bill', 'John'}

4. FLHW EFHERYF

=set( ' EEHT « FRERDEESRE  WmEiEsE -
b=set (" F} g - o3

a.remove( "’ ¢ ")

b.remove( "’ - ')

print(8&b)

TS
U%', &, K')

41




